Section 4.8 Solutions

4.8.11 The antiderivatives of 52* are 2° + C. Check: %(3:5 +C) =5t

4.8.13 The antiderivatives of sin 2z are —(1/2) cos 2z + C. Check: %(—% cos2x + (') = sin 2z

4.8.15 The antiderivatives of 3sec’® x are 3tanz + C. Check: %(3ta,nx + C) = 3sec’x

4.8.17 The antiderivatives of —2/y* = —2y~* are y=? + C. Check: ( 24+ 0)=-2y3.
4.8.19 [(32° —52%)dr=3-% — 5.2 1+ C = 12% — 1419 4 C. Check: £(

4821 [ (45— %) do = [(42'/? — 4a™P)dz = 4 - 57 —4- 51 +C = §a/2
B p3/2 1/2 4
d(32%/2 8212 + C) =4yz - £

128 — J21% + C) = 32° — 52°.

— 821/2 + C. Check:

dr

4.8.25 [(3z'/® + 42~ /®  6)dx = 3- 32Y/% 1+ 4.

ia,:Z/:'s + 6x +C =
42 4fi+m_=m+6a~+c*)—s:z~1“+4ac—‘“+b.

Su*3 + 62?3 4 62 + C. Check:

4.8.27 Using Table 4.5 (formulas 1 and 2), f(sin 2y+cos3y) dy = —% cos 2y+% sin 3y+C. Check: 24 ( 5 cos 2y+
1sin3y + C) = sin 2y + cos 3y.

4.8.29 Using Table 4.5 (formula 3), [(sec?z — 1) de = tanz — 2 + C. Check: & (tanz —z+C) =sec?z — 1.

4.8.39 We have F(z) = [(z* —23" Q-I—I)dw = —-1—2;."_i +z+C; substituting F(1) = 0 gives g +2+1+C =0,
so C = —12 and thus F(z) = + +a— L

4.8.41 We have F(v f:.ecvtan vdtv = secv + C; substituting F(0) = 2 gives sec04+C =1+ C =2, s0
C =1, and thus F(L) =sgecv + 1.



